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 2 and 3 only(c) 

 1, 2 and 3 (d) 

Consider the following pair89. 
ISRO centre   Location
Vikram Sarabhai  1. Bengaluru  A. 
 space centre
 National Remote  2. Hassan  B. 
 Sensing Centre
 Master Control  3. Hyderabad  C. 
facility
Antrix   4.Thiruvanantha- D. 
corporation      puram

Select the correct pair using the code given 
below

A B C D
1 2 3 4(a) 
2 3 4 1(b) 
4 3 2 1(c) 
4 2 3 1(d) 

Advent of which of the above 90. 
technologies is often referred to as 
Industrial Revolution 4.0?

Cloud computing 1. 
Computers2. 
Internet of Things3. 
Telecommunication4. 

Select the correct answer using the codes 
given below

1 and 3 only(a) 
3 and 4 only(b) 
2 and 4 only(c) 
1, 2, 3 and 4(d) 

In the context of digitisation in India, 91. 
Optical Fibre has become vogue today. 
Which of the following could be the 
reasons?

Least vulnerable to data theft/cyber 1. 
attacks
High bandwidth of light2. 
Long distance transmission3. 
Data  is transmitted  at the speed of light4. 

Select the correct answer using the code given 
below

1, 2 and 4 only(a) 

2 and 3 only(b) 
1, 2 and 3 only(c) 
1, 2, 3 and 4 (d) 

The Digital India initiative refers to 92. 
Early Harvest Program (EHP).Which 
of the following are part of EHP?

National Portal for lost and found 1. 
children
Biometric attendance2. 
Mass messaging to citizens3. 
Public Wi-fi  hotspots in all cities4. 

Select the correct answer using the code given 
below

1, 2 and 3 only(a) 
3 and 4 only(b) 
1, 3 and 4 only(c) 

1, 2, 3 and 4(d) 

If Net Neutrality is revoked in India 93. 
which of the following is most likely 
to happen?

No free calls on over-the-top applications (a) 
like Whatsapp and Facebook
E-commerce sector to get boost (b) 
Increased data transmission speed(c) 
India to shift sooner to next generation (d) 
mobile technology

The term ‘Data Mining’ is often 94. 
associated with which of the 
following 

Cloud computing(a) 
Big data(b) 
Net neutrality(c) 

Internet of Things(d) 

Consider the following statements:95. 
No space missions have ever crossed 1. 
solar system.
The existence of Higgs boson particle 2. 
was fi rst predicted by Einstein’s General 
Theory of Relativity 

Which of the above statements is/are correct?
1 only(a) 


